BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR EASTLAND, PHASE 4 KAUFMAN COUNTY MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS MARCH 5, 2024
LJA ENGINEERING, INC.
SBOOTH
MARCH 5, 2024
NT600-0003C

BIDDER'S NAME	TOTAL AMOUNT BID	CALENDAR DAYS	CONTRACTOR'S SCHEDULE
1) GM CONSTRUCTION TX	\$1,917,381.40	55/20	8/1/2024
2) PAVECON PUBLIC WORKS, LP	\$2,060,514.92	40/15	11/1/2024
3) SMITH CONTRACTING INC.	\$2,073,054.00	55/30	MAY/JUNE 2024
4) RPM XCONSTRUCTION	\$2,106,567.75	27/27	8/1/2024
5) GTI	\$2,125,509.35	60/25	12/2/2024
6) TISEO PAVING	\$2,269,715.25	30/10	NOT PROVIDED
7) MARIO SINACOLA & SONS EXCAVATING, INC.	\$2,372,111.80	55/20	11/1/2024

I, Edgar Saucedo, P.E., hereby certify these bid tabulations to be true and correct.



BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR EASTLAND, PHASE 4 KAUFMAN COUNTY MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS MARCH 5, 2024

LJA ENGINEERING, INC.

2) PAVECON PUBLIC WORKS, LP

3) SMITH CONTRACTING INC.

LJA ENGINEERII S.BOOTH MARCH 5, 2024 NT600-0003C

1) GM CONSTRUCTION TX

			I) GIVI CONSTR	OCTION IX	2) PAVECON PUBL	IC WORKS, LP	3) SIVILLI COINTR	ACTING INC.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECTION A - PHASE 4 RESIDENTIAL INFRASTRUCTURE PAVING IMPROVEMENTS:								
1 6" 3,600 PSI REINFORCED CONCRETE PAVEMENT, INCLUDING CURB AND GUTTER	SY	29633	\$42.50	\$1,259,402.50	\$47.74	\$1,414,679.42	\$47.25	\$1,400,159.25
2 6" LIME STABILIZED SUBGRADE	SY	31609	\$4.80	\$151,723.20	\$4.02	\$127,068.18	\$3.75	\$118,533.75
3 HYDRATED LIME (45 #/SY)	TON	711	\$304.50	\$216,499.50	\$323.46	\$229,980.06	\$330.00	\$234,630.00
4 SAWCUT AND CONNECT TO EXISTING ROAD (FM 741)	LF	96	\$50.00	\$4,800.00	\$13.65	\$1,310.40	\$45.00	\$4,320.00
5 SAWCUT AND CONNECT TO EXISTING ROAD (BROKEN ARROW BLVD.)	LF	135	\$24.00	\$3,240.00	\$13.65	\$1,842.75	\$20.00	\$2,700.00
6 SAWCUT AND CONNECT TO EXISTING ROAD (CARIBOU LANE) 7 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP	LF EA	144 54	\$24.00	\$3,456.00	\$13.65	\$1,965.60	\$20.00	\$2,880.00
8 TXDOT TYPE 3 COMBINATION PEDESTRIAN CURB RAMP	EA EA	54 7	\$1,930.00 \$2,260.00	\$104,220.00 \$15,820.00	\$1,966.20 \$2.213.67	\$106,174.80 \$15,495.69	\$2,250.00 \$2.850.00	\$121,500.00 \$19.950.00
9 5' SIDEWALK	SF	16674	\$7.30	\$121,720.20	\$7.13	\$13,493.09	\$6.50	\$108,381.00
10 SIGNAGE (INCLUDING POLES AND SIGNAGE REMOVAL/MODIFICATIONS)	LS	1	\$11,300.00	\$11,300.00	\$17,458.89	\$17,458.89	\$30,000.00	\$30,000.00
SECTION A - PHASE 4 RESIDENTIAL INFRASTRUCTURE PAVING IMPROVEMENTS: SU		•	***,	\$1,892,181.40	7,	\$2,034,861.41	***,******	\$2,043,054.00
SECTION B - MISCELLANEOUS ITEMS:						, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		, , , , , , , , , , , , , , , , , , , ,
1 PERFORMANCE & PAYMENT BOND - 100%	LS	1	\$20,100.00	\$20,100.00	\$20,076.66	\$20,076.66	\$17,500.00	\$17,500.00
2 MAINTENANCE BOND - 2YR, 100%	LS	1	\$5,100.00	\$5,100.00	\$5,576.85	\$5,576.85	\$12,500.00	\$12,500.00
SECTION B - MISCELLANEOUS ITEMS: SUBTOTAL:				\$25,200.00		\$25,653.51		\$30,000.00
ALTERNATE I ITEMS:								
1 8" CURLEX	LF	19655	\$1.15	\$22,603.25	\$1.45	\$28,499.75	\$2.00	\$39,310.00
ALTERNATE I ITEMS: SUBTOTAL:				\$22,603.25		\$28,499.75		\$39,310.00
ALTERNATE II NON-RESIDENTIAL INFASTRUCTURE PAVING IMPROVEMENTS:								
1 6" 3,600 PSI REINFORCED CONCRETE PAVEMENT, INCLUDING CURB AND	SY	1055	\$56.80	\$76,964.00	\$69.25	\$93,833.75	\$57.55	\$77,980.25
GUTTER	31	1355	\$30.00	\$76,964.00	\$09.25	ψου,σουσ	φ57.55	
GUTTER 2 6" LIME STABILIZED SUBGRADE	SY	1435	\$5.00	\$76,964.00	\$9.03	\$12,958.05	\$3.75	\$5,381.25
2 6° LIME STABILIZED SUBGRADE 3 HYDRATED LIME (45 #/SY)	SY TON	1435 32	\$5.00 \$304.50	\$7,175.00 \$9,744.00	\$9.03 \$331.27	\$12,958.05 \$10,600.64	\$3.75 \$330.00	\$10,560.00
2 6" LIME STABILIZED SUBGRADE 3 HYDRATED LIME (45 #/SY) 4 TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP	SY TON EA	1435 32 1	\$5.00 \$304.50 \$2,500.00	\$7,175.00 \$9,744.00 \$2,500.00	\$9.03 \$331.27 \$2,302.74	\$12,958.05 \$10,600.64 \$2,302.74	\$3.75 \$330.00 \$2,850.00	\$10,560.00 \$2,850.00
2 6" LIME STABILIZED SUBGRADE 3 HYDRATED LIME (45 #/SY) 4 TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP 5 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP	SY TON EA EA	1435 32 1 4	\$5.00 \$304.50 \$2,500.00 \$1,930.00	\$7,175.00 \$9,744.00 \$2,500.00 \$7,720.00	\$9.03 \$331.27 \$2,302.74 \$2,302.74	\$12,958.05 \$10,600.64 \$2,302.74 \$9,210.96	\$3.75 \$330.00 \$2,850.00 \$2,850.00	\$10,560.00 \$2,850.00 \$11,400.00
2 6° LIME STABILIZED SUBGRADE 3 HYDRATED LIME (45 #/SY) 4 TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP 5 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP 6 6' SIDEWALK (ALONG BROKEN ARROW BLVD)	SY TON EA EA SF	1435 32 1 4 2620	\$5.00 \$304.50 \$2,500.00 \$1,930.00 \$7.30	\$7,175.00 \$9,744.00 \$2,500.00 \$7,720.00 \$19,126.00	\$9.03 \$331.27 \$2,302.74 \$2,302.74 \$7.16	\$12,958.05 \$10,600.64 \$2,302.74 \$9,210.96 \$18,759.20	\$3.75 \$330.00 \$2,850.00 \$2,850.00 \$6.50	\$10,560.00 \$2,850.00 \$11,400.00 \$17,030.00
2 6° LIME STABILIZED SUBGRADE 3 HYDRATED LIME (45 #/SY) 4 TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP 5 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP 6 6' SIDEWALK (ALONG BROKEN ARROW BLVD) 7 8' SIDEWALK	SY TON EA EA SF SF	1435 32 1 4 2620 2540	\$5.00 \$304.50 \$2,500.00 \$1,930.00 \$7.30 \$7.30	\$7,175.00 \$9,744.00 \$2,500.00 \$7,720.00 \$19,126.00 \$18,542.00	\$9.03 \$331.27 \$2,302.74 \$2,302.74 \$7.16 \$7.04	\$12,958.05 \$10,600.64 \$2,302.74 \$9,210.96 \$18,759.20 \$17,881.60	\$3.75 \$330.00 \$2,850.00 \$2,850.00 \$6.50	\$10,560.00 \$2,850.00 \$11,400.00 \$17,030.00 \$16,510.00
2 6° LIME STABILIZED SUBGRADE 3 HYDRATED LIME (45 #/SY) 4 TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP 5 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP 6 6' SIDEWALK (ALONG BROKEN ARROW BLVD)	SY TON EA EA SF	1435 32 1 4 2620	\$5.00 \$304.50 \$2,500.00 \$1,930.00 \$7.30	\$7,175.00 \$9,744.00 \$2,500.00 \$7,720.00 \$19,126.00	\$9.03 \$331.27 \$2,302.74 \$2,302.74 \$7.16	\$12,958.05 \$10,600.64 \$2,302.74 \$9,210.96 \$18,759.20	\$3.75 \$330.00 \$2,850.00 \$2,850.00 \$6.50	\$10,560.00 \$2,850.00 \$11,400.00 \$17,030.00
2 6" LIME STABILIZED SUBGRADE 3 HYDRATED LIME (45 #/SY) 4 TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP 5 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP 6 6' SIDEWALK (ALONG BROKEN ARROW BLVD) 7 8' SIDEWALK 8 2' SAWCUT AND CONNECT TO EXISTING ROAD (BROKEN ARROW BLVD)	SY TON EA EA SF SF LF LS	1435 32 1 4 2620 2540	\$5.00 \$304.50 \$2,500.00 \$1,930.00 \$7.30 \$7.30 \$24.00	\$7,175.00 \$9,744.00 \$2,500.00 \$7,720.00 \$19,126.00 \$18,542.00 \$2,064.00	\$9.03 \$331.27 \$2,302.74 \$2,302.74 \$7.16 \$7.04	\$12,958.05 \$10,600.64 \$2,302.74 \$9,210.96 \$18,759.20 \$17,881.60 \$1,189.38	\$3.75 \$330.00 \$2,850.00 \$2,850.00 \$6.50 \$6.50 \$45.00	\$10,560.00 \$2,850.00 \$11,400.00 \$17,030.00 \$16,510.00 \$3,870.00
2 6° LIME STABILIZED SUBGRADE 3 HYDRATED LIME (45 #/SY) 4 TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP 5 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP 6 6' SIDEWALK (ALONG BROKEN ARROW BLVD) 7 8' SIDEWALK 8 2' SAWCUT AND CONNECT TO EXISTING ROAD (BROKEN ARROW BLVD) 9 SIGNAGE (INCLUDING ADA SIGNAGE) 10 PARKING LOT STRIPING (INCLUDING PARKING BAYS, FIRE LANES, SYMBOLS	SY TON EA EA SF SF LF LS	1435 32 1 4 2620 2540	\$5.00 \$304.50 \$2,500.00 \$1,930.00 \$7.30 \$7.30 \$24.00 \$1,000.00	\$7,175.00 \$9,744.00 \$2,500.00 \$7,720.00 \$19,126.00 \$18,542.00 \$2,064.00 \$1,000.00	\$9.03 \$331.27 \$2,302.74 \$2,302.74 \$7.16 \$7.04 \$13.83 \$1,193.45	\$12,958.05 \$10,600.64 \$2,302.74 \$9,210.96 \$18,759.20 \$17,881.60 \$1,189.38 \$1,193.45	\$3.75 \$330.00 \$2,850.00 \$2,850.00 \$6.50 \$6.50 \$45.00 \$2,500.00	\$10,560.00 \$2,850.00 \$11,400.00 \$17,030.00 \$16,510.00 \$3,870.00 \$2,500.00
2 6° LIME STABILIZED SUBGRADE 3 HYDRATED LIME (45 #/SY) 4 TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP 5 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP 6 6' SIDEWALK (ALONG BROKEN ARROW BLVD) 7 8' SIDEWALK 8 2' SAWCUT AND CONNECT TO EXISTING ROAD (BROKEN ARROW BLVD) 9 SIGNAGE (INCLUDING ADA SIGNAGE) 10 PARKING LOT STRIPING (INCLUDING PARKING BAYS, FIRE LANES, SYMBOLS CONCRETE WHEELSTOPS, & ACCESSIBLE AISLES)	SY TON EA EA SF SF LF LS	1435 32 1 4 2620 2540	\$5.00 \$304.50 \$2,500.00 \$1,930.00 \$7.30 \$7.30 \$24.00 \$1,000.00	\$7,175.00 \$9,744.00 \$2,500.00 \$7,720.00 \$19,126.00 \$18,542.00 \$2,064.00 \$1,000.00	\$9.03 \$331.27 \$2,302.74 \$2,302.74 \$7.16 \$7.04 \$13.83 \$1,193.45	\$12,958.05 \$10,600.64 \$2,302.74 \$9,210.96 \$18,759.20 \$17,881.60 \$1,189.38 \$1,193.45 \$4,593.10	\$3.75 \$330.00 \$2,850.00 \$2,850.00 \$6.50 \$6.50 \$45.00 \$2,500.00	\$10,560.00 \$2,850.00 \$11,400.00 \$17,030.00 \$16,510.00 \$3,870.00 \$2,500.00 \$12,000.00
2 6" LIME STABILIZED SUBGRADE 3 HYDRATED LIME (45 #/SY) 4 TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP 5 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP 6 6' SIDEWALK (ALONG BROKEN ARROW BLVD) 7 8' SIDEWALK (ALONG BROKEN ARROW BLVD) 9 SIGNAGE (INCLUDING ADA SIGNAGE) 10 PARKING LOT STRIPING (INCLUDING PARKING BAYS, FIRE LANES, SYMBOLS CONCRETE WHEELSTOPS, & ACCESSIBLE AISLES) ALTERNATE II NON-RESIDENTIAL INFASTRUCTURE PAVING IMPROVEMENTS: SUBTO	SY TON EA EA SF LF LS LS	1435 32 1 4 2620 2540	\$5.00 \$304.50 \$2,500.00 \$1,930.00 \$7.30 \$7.30 \$24.00 \$1,000.00	\$7,175.00 \$9,744.00 \$2,500.00 \$7,720.00 \$19,126.00 \$18,542.00 \$2,064.00 \$1,000.00	\$9.03 \$331.27 \$2,302.74 \$2,302.74 \$7.16 \$7.04 \$13.83 \$1,193.45	\$12,958.05 \$10,600.64 \$2,302.74 \$9,210.96 \$18,759.20 \$17,881.60 \$1,189.38 \$1,193.45 \$4,593.10	\$3.75 \$330.00 \$2,850.00 \$2,850.00 \$6.50 \$6.50 \$45.00 \$2,500.00	\$10,560.00 \$2,850.00 \$11,400.00 \$17,030.00 \$16,510.00 \$3,870.00 \$2,500.00 \$12,000.00
2 6" LIME STABILIZED SUBGRADE 3 HYDRATED LIME (45 #/SY) 4 TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP 5 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP 6 6' SIDEWALK (ALONG BROKEN ARROW BLVD) 7 8' SIDEWALK 8 2' SAWCUT AND CONNECT TO EXISTING ROAD (BROKEN ARROW BLVD) 9 SIGNAGE (INCLUDING ADA SIGNAGE) 10 PARKING LOT STRIPING (INCLUDING PARKING BAYS, FIRE LANES, SYMBOLS CONCRETE WHEELSTOPS, & ACCESSIBLE AISLES) ALTERNATE II NON-RESIDENTIAL INFASTRUCTURE PAVING IMPROVEMENTS: SUBTOBIONIS SUMMARY SUBTOTAL SECTION A - PHASE 4 RESIDENTIAL INFRASTRUCTURE PAVING IMPROVESUBTOTAL SECTION B - MISCELLANEOUS ITEMS:	SY TON EA EA SF LF LS LS	1435 32 1 4 2620 2540	\$5.00 \$304.50 \$2,500.00 \$1,930.00 \$7.30 \$7.30 \$24.00 \$1,000.00	\$7,175.00 \$9,744.00 \$2,500.00 \$7,720.00 \$19,126.00 \$18,542.00 \$2,064.00 \$1,000.00 \$2,700.00	\$9.03 \$331.27 \$2,302.74 \$2,302.74 \$7.16 \$7.04 \$13.83 \$1,193.45	\$12,958.05 \$10,600.64 \$2,302.74 \$9,210.96 \$18,759.20 \$17,881.60 \$1,189.38 \$1,193.45 \$4,593.10 \$172,522.87	\$3.75 \$330.00 \$2,850.00 \$2,850.00 \$6.50 \$6.50 \$45.00 \$2,500.00	\$10,560.00 \$2,850.00 \$11,400.00 \$17,030.00 \$16,510.00 \$3,870.00 \$2,500.00 \$12,000.00 \$160,081.50
2 6"LIME STABILIZED SUBGRADE 3 HYDRATED LIME (45 #/SY) 4 TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP 5 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP 6 6'SIDEWALK (ALONG BROKEN ARROW BLVD) 7 8'SIDEWALK (ALONG BROKEN ARROW BLVD) 9 SIGNAGE (INCLUDING ADA SIGNAGE) 10 PARKING LOT STRIPING (INCLUDING PARKING BAYS, FIRE LANES, SYMBOLS CONCRETE WHEELSTOPS, & ACCESSIBLE AISLES) ALTERNATE II NON-RESIDENTIAL INFASTRUCTURE PAVING IMPROVEMENTS: SUBTOTAL SECTION A - PHASE 4 RESIDENTIAL INFRASTRUCTURE PAVING IMPROVE	SY TON EA EA SF LF LS LS	1435 32 1 4 2620 2540	\$5.00 \$304.50 \$2,500.00 \$1,930.00 \$7.30 \$7.30 \$24.00 \$1,000.00	\$7,175.00 \$9,744.00 \$2,500.00 \$7,720.00 \$19,126.00 \$18,542.00 \$2,064.00 \$1,000.00 \$2,700.00 \$147,535.00	\$9.03 \$331.27 \$2,302.74 \$2,302.74 \$7.16 \$7.04 \$13.83 \$1,193.45	\$12,958.05 \$10,600.64 \$2,302.74 \$9,210.96 \$18,759.20 \$17,881.60 \$1,189.38 \$1,193.45 \$4,593.10 \$172,522.87	\$3.75 \$330.00 \$2,850.00 \$2,850.00 \$6.50 \$6.50 \$45.00 \$2,500.00	\$10,560.00 \$2,850.00 \$11,400.00 \$17,030.00 \$16,510.00 \$3,870.00 \$2,500.00 \$12,000.00 \$160,081.50
2 6"LIME STABILIZED SUBGRADE 3 HYDRATED LIME (45 #/SY) 4 TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP 5 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP 6 6'SIDEWALK (ALONG BROKEN ARROW BLVD) 7 8'SIDEWALK (ALONG BROKEN ARROW BLVD) 9 SIGNAGE (INCLUDING ADA SIGNAGE) 10 PARKING LOT STRIPING (INCLUDING PARKING BAYS, FIRE LANES, SYMBOLS CONCRETE WHEELSTOPS, & ACCESSIBLE AISLES) ALTERNATE II NON-RESIDENTIAL INFASTRUCTURE PAVING IMPROVEMENTS: SUBTOBION SUBMARY SUBTOTAL SECTION A - PHASE 4 RESIDENTIAL INFRASTRUCTURE PAVING IMPROVEMENTS TOTAL AMOUNT BASE BID ALTERNATE LITEMS:	SY TON EA EA SF LF LS LS	1435 32 1 4 2620 2540	\$5.00 \$304.50 \$2,500.00 \$1,930.00 \$7.30 \$7.30 \$24.00 \$1,000.00	\$7,175.00 \$9,744.00 \$2,500.00 \$7,720.00 \$19,126.00 \$18,542.00 \$2,064.00 \$1,000.00 \$2,700.00 \$147,535.00	\$9.03 \$331.27 \$2,302.74 \$2,302.74 \$7.16 \$7.04 \$13.83 \$1,193.45	\$12,958.05 \$10,600.64 \$2,302.74 \$9,210.96 \$18,759.20 \$17,881.60 \$1,189.38 \$1,193.45 \$4,593.10 \$172,522.87	\$3.75 \$330.00 \$2,850.00 \$2,850.00 \$6.50 \$6.50 \$45.00 \$2,500.00	\$10,560.00 \$2,850.00 \$11,400.00 \$17,030.00 \$16,510.00 \$3,870.00 \$2,500.00 \$12,000.00 \$160,081.50
2 6" LIME STABILIZED SUBGRADE 3 HYDRATED LIME (45 #/SY) 4 TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP 5 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP 6 6' SIDEWALK (ALONG BROKEN ARROW BLVD) 7 8' SIDEWALK 8 2' SAWCUT AND CONNECT TO EXISTING ROAD (BROKEN ARROW BLVD) 9 SIGNAGE (INCLUDING ADA SIGNAGE) 10 PARKING LOT STRIPING (INCLUDING PARKING BAYS, FIRE LANES, SYMBOLS CONCRETE WHEELSTOPS, & ACCESSIBLE AISLES) ALTERNATE II NON-RESIDENTIAL INFASTRUCTURE PAVING IMPROVEMENTS: SUBTOTAL SECTION A - PHASE 4 RESIDENTIAL INFRASTRUCTURE PAVING IMPROVESUBTOTAL SECTION B - MISCELLANEOUS ITEMS: TOTAL AMOUNT BASE BID	SY TON EA EA SF LF LS LS	1435 32 1 4 2620 2540	\$5.00 \$304.50 \$2,500.00 \$1,930.00 \$7.30 \$7.30 \$24.00 \$1,000.00	\$7,175.00 \$9,744.00 \$2,500.00 \$7,720.00 \$19,126.00 \$18,542.00 \$2,064.00 \$1,000.00 \$2,700.00 \$147,535.00	\$9.03 \$331.27 \$2,302.74 \$2,302.74 \$7.16 \$7.04 \$13.83 \$1,193.45	\$12,958.05 \$10,600.64 \$2,302.74 \$9,210.96 \$18,759.20 \$17,881.60 \$1,189.38 \$1,193.45 \$4,593.10 \$172,522.87	\$3.75 \$330.00 \$2,850.00 \$2,850.00 \$6.50 \$6.50 \$45.00 \$2,500.00	\$10,560.00 \$2,850.00 \$11,400.00 \$17,030.00 \$16,510.00 \$3,870.00 \$2,500.00 \$12,000.00 \$160,081.50

Page 2 of 4 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

SUBTOTAL ALTERNATE II NON-RESIDENTIAL INFASTRUCTURE PAVING IMPROVEMENTS.

CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR EASTLAND, PHASE 4 KAUFMAN COUNTY MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS MARCH 5 2024 LJA ENGINEERING, INC. S.BOOTH

\$181.738.75

5) GTI

6) TISEO PAVING

4) RPM XCONSTRUCTION

MARCH 5, 2024

NT600-0003C

DESCRIPTION UNIT QTY UNIT COST TOTAL COST UNIT COST TOTAL COST UNIT COST TOTAL COST SECTION A - PHASE 4 RESIDENTIAL INFRASTRUCTURE PAVING IMPROVEMENTS: 1 6" 3.600 PSI REINFORCED CONCRETE PAVEMENT, INCLUDING CURB AND SY 29633 \$50.25 \$1,489,058.25 \$49.15 \$1,456,461.95 \$53.10 \$1,573,512.30 GUTTER 2 6" LIME STABILIZED SUBGRADE SY 31609 \$3.50 \$110.631.50 \$4,10 \$129,596,90 \$4.55 \$143.820.95 3 HYDRATED LIME (45 #/SY) \$199,080,00 \$248,139,00 TON 711 \$280.00 \$322.00 \$228,942.00 \$349.00 4 SAWCUT AND CONNECT TO EXISTING ROAD (FM 741) \$3,360.00 \$3,360.00 \$20.00 \$1,920.00 LF 96 \$35.00 \$35.00 5 SAWCUT AND CONNECT TO EXISTING ROAD (BROKEN ARROW BLVD.) LF 135 \$30.00 \$4,050.00 \$25.00 \$3,375.00 \$20.00 \$2,700.00 6 SAWCUT AND CONNECT TO EXISTING ROAD (CARIBOU LANE) LF \$4.320.00 \$3,600,00 \$2.880.00 144 \$30.00 \$25.00 \$20.00 7 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP EΑ 54 \$2,125.00 \$114,750.00 \$2,100.00 \$113,400.00 \$2,365.00 \$127,710.00 8 TXDOT TYPE 3 COMBINATION PEDESTRIAN CURB RAMP \$2,300.00 \$16,100.00 \$2,400.00 \$16,800.00 \$2,640.00 \$18,480.00 EΑ 9 5' SIDEWALK SF 16674 \$7.00 \$116,718.00 \$7.75 \$129,223.50 \$7.00 \$116,718.00 10 SIGNAGE (INCLUDING POLES AND SIGNAGE REMOVAL/MODIFICATIONS) LS \$17,000.00 \$12,500.00 \$10,835.00 \$10,835.00 \$17,000.00 \$12,500.00 SECTION A - PHASE 4 RESIDENTIAL INFRASTRUCTURE PAVING IMPROVEMENTS: SUBTOTAL: \$2,075,067.75 \$2,097,259.35 \$2,246,715.25 **SECTION B - MISCELLANEOUS ITEMS:** 1 PERFORMANCE & PAYMENT BOND - 100% LS \$27,000.00 \$27,000.00 \$21,250,00 \$21.250.00 \$16.000.00 \$16,000.00 2 MAINTENANCE BOND - 2YR, 100% LS \$4,500.00 \$4,500.00 \$7,000.00 \$7,000.00 \$7,000.00 \$7,000.00 SECTION B - MISCELLANEOUS ITEMS: SUBTOTAL: \$31,500.00 \$23,000.00 \$28,250.00 ALTERNATE I ITEMS: 1 8" CURLEX LF 19655 \$29,482.50 \$2.25 \$44,223.75 \$1.10 \$21,620.50 ALTERNATE I ITEMS: SUBTOTAL: \$29,482.50 \$44,223.75 \$21,620,50 ALTERNATE II NON-RESIDENTIAL INFASTRUCTURE PAVING IMPROVEMENTS: 1 6" 3,600 PSI REINFORCED CONCRETE PAVEMENT, INCLUDING CURB AND \$77.75 SY 1355 \$105,351.25 \$71.65 \$97,085.75 \$73.75 \$99,931.25 GUTTER 2 6" LIME STABILIZED SUBGRADE SY 1435 \$6.50 \$9.327.50 \$5.50 \$7.892.50 \$7.65 \$10.977.75 3 HYDRATED LIME (45 #/SY) TON 32 \$280.00 \$8.960.00 \$355.00 \$11,360.00 \$349.00 \$11.168.00 4 TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP EΑ \$2,400.00 \$2,400.00 \$2,200.00 \$2,200.00 \$3,309.90 \$3,309.90 5 TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP EΑ \$2,200.00 \$8,800.00 \$2,100.00 \$8,400.00 \$2,365.00 \$9,460,00 6 6' SIDEWALK (ALONG BROKEN ARROW BLVD) SF \$20,305.00 \$18,733.00 2620 \$8.25 \$21,615.00 \$7.75 \$7.15 7 8' SIDEWALK SF \$8.25 \$20,955.00 \$7.75 \$19,685.00 \$7.10 \$18,034.00 8 2' SAWCUT AND CONNECT TO EXISTING ROAD (BROKEN ARROW BLVD) LF \$30.00 \$2.580.00 \$25.00 \$2 150 00 \$35.00 \$3.010.00 9 SIGNAGE (INCLUDING ADA SIGNAGE) LS \$850.00 \$850.00 \$1,500.00 \$1,500.00 \$935.00 \$935.00 10 PARKING LOT STRIPING (INCLUDING PARKING BAYS, FIRE LANES, SYMBOLS, \$900.00 \$900.00 \$3,000.00 \$3,000.00 \$2,475.00 \$2,475.00 CONCRETE WHEELSTOPS, & ACCESSIBLE AISLES) ALTERNATE II NON-RESIDENTIAL INFASTRUCTURE PAVING IMPROVEMENTS: SUBTOTAL: \$181,738.75 \$173,578.25 \$178.033.90 **BIDDING SUMMARY** SUBTOTAL SECTION A - PHASE 4 RESIDENTIAL INFRASTRUCTURE PAVING IMPROVEMENTS: \$2.075.067.75 \$2.097.259.35 \$2,246,715,25 SUBTOTAL SECTION B - MISCELLANEOUS ITEMS: \$31,500.00 \$28,250.00 \$23,000.00 TOTAL AMOUNT BASE BID \$2.106.567.75 \$2,125,509.35 \$2,269,715.25 **ALTERNATE I ITEMS:** SUBTOTAL ALTERNATE LITEMS: \$29,482.50 \$44,223.75 \$21,620.50

> FRN F-1386 Page 3 of 4 LJA Engineering, Inc.

\$173.578.25

\$178.033.90

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR EASTLAND, PHASE 4 KAUFMAN COUNTY MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS MARCH 5, 2024

MARCH 5, 2024 LJA ENGINEERING, INC. S.BOOTH MARCH 5, 2024 NT600-0003C

7) MARIO SINACOLA & SONS EXCAVATING, INC.

				ING.		
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	
SECT	ON A - PHASE 4 RESIDENTIAL INFRASTRUCTURE PAVING IMPROVEMENTS:					
	6" 3,600 PSI REINFORCED CONCRETE PAVEMENT, INCLUDING CURB AND GUTTER	SY	29633	\$56.00	\$1,659,448.00	
2	6" LIME STABILIZED SUBGRADE	SY	31609	\$4.20	\$132,757.80	
3	HYDRATED LIME (45 #/SY)	TON	711	\$315.00	\$223,965.00	
4	SAWCUT AND CONNECT TO EXISTING ROAD (FM 741)	LF	96	\$55.00	\$5,280.00	
5	SAWCUT AND CONNECT TO EXISTING ROAD (BROKEN ARROW BLVD.)	LF	135	\$20.00	\$2,700.00	
6	SAWCUT AND CONNECT TO EXISTING ROAD (CARIBOU LANE)	LF	144	\$20.00	\$2,880.00	
	TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP	EA	54	\$3,200.00	\$172,800.00	
8	TXDOT TYPE 3 COMBINATION PEDESTRIAN CURB RAMP	EA	7	\$3,200.00	\$22,400.00	
9	5' SIDEWALK	SF	16674	\$6.50	\$108,381.00	
10	SIGNAGE (INCLUDING POLES AND SIGNAGE REMOVAL/MODIFICATIONS)	LS	1	\$16,000.00	\$16,000.00	
SECTI	ON A - PHASE 4 RESIDENTIAL INFRASTRUCTURE PAVING IMPROVEMENTS: SUB	BTOTAL:			\$2,346,611.80	
SECT	ON B - MISCELLANEOUS ITEMS:					
1	PERFORMANCE & PAYMENT BOND - 100%	LS	1	\$25,000.00	\$25,000.00	
	MAINTENANCE BOND - 2YR, 100%	LS	1	\$500.00	\$500.00	
SECTI	ON B - MISCELLANEOUS ITEMS: SUBTOTAL:				\$25,500.00	
ALTE	RNATE I ITEMS:					
1	8" CURLEX	LF	19655	\$1.65	\$32,430.75	
ALTE	RNATE I ITEMS: SUBTOTAL:				\$32,430.75	
ALTEI	RNATE II NON-RESIDENTIAL INFASTRUCTURE PAVING IMPROVEMENTS:					
	6" 3,600 PSI REINFORCED CONCRETE PAVEMENT, INCLUDING CURB AND GUTTER	SY	1355	\$92.00	\$124,660.00	
	6" LIME STABILIZED SUBGRADE	SY	1435	\$6.00	\$8,610.00	
	HYDRATED LIME (45 #/SY)	TON	32	\$315.00	\$10,080.00	
	TXDOT TYPE 2 PARALLEL PEDESTRIAN CURB RAMP	EA	1	\$3,500.00	\$3,500.00	
	TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP	EA	4	\$3,500.00	\$14,000.00	
	6' SIDEWALK (ALONG BROKEN ARROW BLVD)	SF	2620	\$5,300.00	\$17,030.00	
	8' SIDEWALK	SF a	2540	\$6.50	\$17,030.00	
	2' SAWCUT AND CONNECT TO EXISTING ROAD (BROKEN ARROW BLVD)	LF	86	\$20.00	\$1,720.00	
	SIGNAGE (INCLUDING ADA SIGNAGE)	LS	1	\$785.00	\$7,720.00	
	PARKING LOT STRIPING (INCLUDING PARKING BAYS, FIRE LANES, SYMBOLS,	LS	1	\$850.00	\$850.00	
	CONCRETE WHEELSTOPS, & ACCESSIBLE AISLES)	13		φ830.00	φουσ	
ALTE	RNATE II NON-RESIDENTIAL INFASTRUCTURE PAVING IMPROVEMENTS: SUBTO	TAL:	$\langle \rangle$		\$197,745.00	
BIDDII	NG SUMMARY					
SURT	OTAL SECTION A - PHASE 4 RESIDENTIAL INFRASTRUCTURE PAVING IMPROVE	MENTS:			\$2,346,611.80	
	OTAL SECTION B - MISCELLANEOUS ITEMS:				\$25,500.00	
	L AMOUNT BASE BID				\$2,372,111.80	
IOIA	E ANICONT DACE DID				Ψ2,312,111.00	
ALTE	RNATE LITEMS:					
SUBT	OTAL ALTERNATE I ITEMS:				\$32,430.75	
SUBT		TS:			\$32,430.75 \$197,745.00	

Page 4 of 4 FRN F-1386 LJA Engineering, Inc.